0.037 = 37 x[_| ol A [ ] ¢ro]l Fgre £gtas?

FII‘

@ 0.001 ® 0.010 ® 0.0i1 @ o0.i01 @0.001

B
37 1

0.037 = — 990 =37x 990

3 D: gog = 0001




@ 4x-4

Bx—-4)+(x+3)=3x-4+x+3
=4x-1




3. x7F-1,0,1,2¢€ W}, 554 5 - x> 32 Fo] T s5t= x 9] =2
® -1,0,1,2 <3—LQ1 ® 01,2
@ 1,2 ® 2
5— x> 3°]A
x=-1°]H 5-(-1)>3 (&)
7‘41—)

x=0°"5-0>3(
x=1°H5-1>3(

= TS5k

5—x>3

=}
)
xE-1,0,1 |t}




ol S|7} (3,6) & w, aSt b 9]

e
D a=-5b=2 (@)a:5,b:2
® a=50b=-2 @ a=-5b=-2

,b) & HUSHH, 6 +b=-4,b=2
) E HYstH, 9-4=a,a=5

©
=
@
S




5.

the AP e Fohu?

® (2, -3)

)C—y:3 @
ODx3+O S AMNSH x=1, y=-2
kA AHFEA ] sh= (1, -2

~—




Syo] Bt ZAy=[A |---©
©& ©° tste] W 3x+2 A |=5
SLox=3
L x=3E O HYSHH y = -2

© x-4 @ -x-4 ® 2x+8
@2)6—8 ® -2x+38

~&B

2x—y:8 ...@
3x+2y=5 ---©O

Q= yoll Bt EH y=2x-8---©
©= Ol st 9 3x+2(2x-8) =
v x=3d

x=32 ©° tdstd y=-2




AR [(x) = 3x -+ 191 dste] f(-

2) 9 k27




ol ot

S

y=-4x-5%y=ax+b | Hf

Haater,

A=

ol

!
NI
W
B!

A

]

® a=409]

ol

©° X o
T T
xTHERC
U o BE
»Lﬂ__mﬂ
1jo
H Y5
va_w:_u
o}
il
SN
}E_.__l.b
N
ll.._ |
n]ﬂm__
=
oEmﬂa
— B
7_%_._._%ol
B > o
E_um_ﬂﬂo
~ —
,_070_L
_n_mo%ﬁ
BN o
W E |
Hﬁc_.
— o B
0 K o
T ou
RT _
LT
T s




9.

U 8 A2 AFH AR 5ol 3 oW

@ 0.352 © 0.352

@ 0352 @ 0.352
De-0-06-0 ®Ha-0-0-0
@@—)@—)@—)@ @O0 ->0-0

0.352 = 0.3525252 - - -

0.352 < 0.352 = 0.3522222--- < 0.352 = 0.352352---




(46%y)2 5 (<200)° + 4x'y? & 7HDHS] B 227
D)% 2

y? @ 2xy ® —2x2y
@ 2x2y @ _2xy

(4x3y)2+(_2xy 22 453y2 — 166 2)(( 1 > ( 1
) Y Y 4 2y2 X 4x3y2

)=

X
»”?




@ a10b16

a®b12 x a®b? + a?b® = a8




To°
c° ojfl ,DI

‘Dv
il ZA
__o.._

&/

o
;OH

__ot

—

Plo

e
Tot

74

® M, =

@
A7, A

st

2 A4
o]t




13.

A2 o] Al Mo ZolE 2x, 4x+ 1, x+ 6 = YEFE mf, dx + 1 ©]
71 20 o] doldl Aol st A= x 9] grol 2 =+ gle
A7

® 1 @ 2 ® 3 @1 @)

B ~
78 7 Mo dol7t 4x 4+ 10|22
dx +1<2x+ (x+6)
4x+1<3x+6
xX<5H

olt}. mebA WEsts 24d% x = 1, 2, 3, 4 o]k,




oz aaa { T T g g
3x—y=3
@ (1, 4) @(2, 3) ® (3, 2)
@ (4, 1) ® (5, 0)
{”y‘ Yo 2o she i (2, 3) & WET
3x—y=3




@ 30 ® 34 @)37 ® 40

O 27

Y

i
1jo

=

il
<
o|J
NI

il
<
i

x+y =47

x=8y+2

Hotol EW x =42, y=5°|th
SLx—y=42-5=37

—— B!




16 axatsy = g+ Lo 20zt g 2905
©°

?
D a>0,b>0 @ a>0,b<0
@a<0,b>0 @ a<0,b<0
® a<0,b=0

yl
y=ax+a

By




17. '}}E%Eﬂ'ofqoﬂj\_]%aﬁyZQX—l,y:ax_49”lﬂxuq9’]}+£7}
(=3, b) & ], a 2} b 9] FHS FSHH?

®a=-1,b=-7 @azl,bz—?
®a=-1,b=7 @Da=1,b=7

®a=-1,b=1

x=-3,y=bEy=2x-1° ¥l H b=-6-1=-7
(-3,-T)=y=ax—4°] Y5, -7=-3a-4°1H a=1




18.

=98] Zol7t 15km Q1 24 399 A A& wet A% 10km =

E|ch7} A4 sk & Aol A 3 uH] T ] 2 A|7ko]

712jet dofzt A E?

i)

Ag] : 8km A2 Ad : Tkm

[ty

72l 1 9km Z-2 A2 : 6km

: 10km Z2-& A9 : 5km

rd
X
iC)

D 1lkm 22 A9 : 5km

© ® o e
[l
N
Ll

=AY : 12km 2L 77 : 3km

Ak, Fozh

H AZE xkm, 22 712 € ykmzt &

{x+y=15 (1)
X y
5= @

(2) 9] ¥Rl 105 F5HH x+2y =20 ---(3)
B)-(stHy=5

y=5% (1)l 1’41016}‘34 x=10

w2t H 7)2lE 10km , 22 AgE 5km o]},




19. @70 2A7} 3gel B=o] glt}, o] BEG 7
U == M. 522 7 22 o] B
ygol2kal & m, x 2k yApo] o] TAAL2? ) A

D y=x @ y=2x @yzgx
@ y=4x ® y=5x

=5 1719 £7 © 3¢
=5 x Mo FA © 3xg

Sy =3x




20.

100L €] &°] 5] A= =%
=2 SR Ma shol x
7 (2

o, x 2ty o] A4

© y=100+20x @ y=100-20x @ y =100+ 10x
@)y=100-10x  ® y=100-80x

18] 10L & =L}t
x & 30 10xL 52},
oy =100 -10x




